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Q.1 &) Explain a dihybrid inheritance with suitable cross as an exagple Show
your work with all possible genotypic and phenotypic ratlos‘% &»ﬁ,
b) A woman homozygous for blood type B marrles&iﬁnamwhe is heterozygous for
blood type A. State the possible phenotypic I‘a‘[IOQ of%hEfosprlngs - [3+2]
&@ **':;;’ o
Q2: a) Assume the height in a plant is determqed b“y two dominant genes, A and B, each
allele contributes 10 cm. The base height 6 the'] fﬂant aabb is 6 cm. A plant with AABB
genotype is crossed with aabb and tl;%anl&&i”aBb) is selfed. Determine the height of P1
parents, F1 plant and all F2 plants; :fselﬁng
b) The frequency of two alleles@‘ @ gene pool is 0.20 (A) and 0.80 (a). Assume that the

population is in Hardy—Wembggg éthbnum calculate the percentage of heterozygous

individuals and homozygou%reeesswes in the population. [3-+2]
o
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Q3: a) What are the eﬁsqéﬁah%'ltena must be met in order to execute a successful mapping
cross? %%«
b) What is’ thez% ?gé;sed basis of interference during crossing over?
c) Wh%%;s@;eﬁéigmﬁcance of crossing over? [2+2+1]

.on the followings:-
s, ““T € reglons of the human Y chromosome
%%Kbﬁﬁ(g)rlgm of Turner Syndrome and its implications [2.5+2.5]
%%*"@a@?
Q5:§ a) Explain the concept of conditional mutations with the help of at least two examples.
b) What is the significance of chromosomal mapping?
¢) Why Mendel did not get Linkage? [2+2+1]



